#### **BID FORM**

## **BID IDENTIFICATION:**

Title: Painting Traffic Lines on Albany County Roadways

Bid Number: #2019-055

## THIS BID IS SUBMITTED TO:

Karen A. Storm, Purchasing Agent Albany County Department of General Services Purchasing Division 112 State Street, Room 820 Albany, NY 12207

- 1. The undersigned BIDDER proposes and agrees, if this Bid is accepted, to enter into a Contract with the owner in the form included in the Contract Documents to complete all Work as specified or indicated in the Contract Documents for the Contract Price and within the Contract Time indicated in this Bid and in accordance with the Contract Documents.
- 2. BIDDER accepts all of the terms and conditions of the Instructions to Bidders, including without limitation those dealing with the Disposition of Bid Security. This Bid may remain open for ninety (90) days after the day of Bid opening. BIDDER will sign the Contract and submit the Contract Security and other documents required by the Contract Documents within fifteen days after the date of OWNER'S Notice of Award.
- 3. In submitting this Bid, BIDDER represents, as more fully set forth in this Contract, that:
  - (a) BIDDER has examined copies of all the Contract Documents and of the following addenda: (If none, so state)

Date

Number

None

(receipt of all of which is hereby acknowledged) and also copies of the Notice to Bidders and the Instructions to Bidders;

(b) BIDDER has examined the site and locality where the Work is to be performed, the legal requirements (federal, state and local laws, ordinances, rules and regulations) and the conditions affecting cost, progress or performance of the Work and has made such independent investigations as BIDDER deems necessary;

(c)	This Bid is genuine and not made in the interest of or on behalf of any
` ′	undisclosed person, firm or corporation and is not submitted in conformity with
	any agreement or rules of any group, association, organization or corporation:
	BIDDER has not directly or indirectly induced or solicited any other BIDDER to
	submit a false or sham Bid; BIDDER has not solicited or induced any person,
	firm or a corporation to refrain from bidding; and BIDDER has not sought by
	collusion to obtain for himself any advantage over any other Bidder or over the
	owner.

- 4. BIDDER will complete the Work for the following prices(s): (Attach Bid Proposal)
- 5. BIDDER agrees to commence the Work within the number of calendar days or by the specific date indicated in the Contract. BIDDER agrees that the Work will be completed within the number of Calendar days or by the specific date indicated in the contract.
- 6. The following documents are attached to and made a condition of this Bid:
  - (a) Non-Collusive Bidding Certificate (Attachment "A")
  - (b) Acknowledgment by Bidder (Attachment "B")
  - (c) Vendor Responsibility Questionnaire (Attachment "C")
  - (d) Iranian Energy Divestment Certification (Attachment "D")
  - (e) Bidder Certification Statement MS4-1 (Attachment "E)
  - (f) Bidder Qualification Questionnaire
  - (g) Non-Interruption of Work Agreement (pgs. 1-6)
  - (h) Technical Specifications (pgs. 1-6)
- 7. Communication concerning this Bid shall be addressed to:

	Richard Stewart		
	15 Industrial Rd.		
	Prospect, CT 06712		
Phone: _	203-758-0800	_	

8. Terms used in this Bid have the meanings assigned to them in the Contract and General Provisions.

# BID PROPOSAL FORM RFB # 2019-055

# ROAD STRIPING OF ALBANY COUNTY ROADWAYS ALBANY COUNTY DEPARTMENT OF PUBLIC WORKS

ITEM .NUMBER	DESCRIPTION (painted, unless otherwise noted)	UNIT COST		ALBANY COUNTY • ESTIMATED QUANTITY	ALBANY COUNTY TOTAL COST	
640.10	White Paint Reflectorized Pavement Markings - 15 mils	0.0385	/FOOT	2,798,400 FEET	107,738.40	
640.11	Yellow Paint Reflectorized Pavement Markings - 15 mils	.0.0320	/FOOT	2,376,000 FEET	76,032.00	
	TOTAL BASE BID				183,770.40	
	OPTIONAL SERVICES UNIT PRICES ONLY					
640.11	8" Wide Yellow Hatch Line	0.55	/ FOOT	1,604 FEET	882.20	
640.11	12" Wide Yellow Hatch Line	0.60	/ FOOT	1,085 FEET	651.00	
640.11	24" Wide Yellow Hatch Line	0.75	/ FOOT	1,000 FEET	750.00	
640.10	8" Wide White Crosswalk	0.40	/FOOT	250 FEET	100.00	
640.10	12" Wide White Crosswalk	0.65	/ FOOT	500 FEET	325.00	
640.12	8' High White Word "STOP"	40.00	/ EACH	2	80.00	
640.10	16" Wide White Stop Bars	0.80	/ FOOT	500 FEET	400.00	
640.13	8' High White Right or Left Arrows	30.00	/ EACH	50	1,500.00	
640.12	8' High White Word "ONLY"	49.00	/ EACH	5	245.00	
688.01	Stop Bars	0.65	/ FOOT	800 FEET	520.00	
688.04	Arrows	0.85	/ FOOT	800 FEET.	680.00	
688.03	Only	0.75	/ FOOT	25 FEET	18.75	
688.04	8' High White Symbol "RR"	85.00	/ EACH	2	170.00	

BIDDER NAME:	Atlantic pavement Marking Inc.	
--------------	--------------------------------	--

# BID PROPOSAL FORM RFB # 2019-055

# ROAD STRIPING OF ALBANY COUNTY ROADWAYS ALBANY COUNTY DEPARTMENT OF PUBLIC WORKS

ITEM NUMBER	DESCRIPTION (painted, unless otherwise noted)	UNIT COST		ALBANY COUNTY ESTIMATED QUANTITY	ALBANY COUNTY TOTAL COST
	PARKING LOTS (PAINTED WITH NO GLASS BEADS)				
640.20	White Paint Pavement Stripes - 20 mils	0.40	/ FOOT	20,00 FEET	800.00
640.21	Yellow Paint Pavement Stripes - 20 mils	0.40	/ FOOT	200 FEET	80.00
640.25	4' High Blue Handicap Symbol	25.00	/ EACH	11	25.00
640.23	8' High White Right or Left Arrows	35.00	/ EACH	7	245.00
640.23	10' High White Straight Arrows	30.00	/ EACH	2	60.00
640.22	8' High White Word "NO PARKING"	30.00	/ EACH	3	90.00
· · · · · · · · · · · · · · · · · · ·	Grinding existing preformed reflectorized pavement markings	1.55	/ SQ FT	3,000 SF	4650.00

BIDDER NAME:	Atlantic Pavement Marking inc.
DIDDELLIA MIET	<del>_</del>

## BID PROPOSAL FORM RFB # 2019-055

# ROAD STRIPING OF ALBANY COUNTY ROADWAYS ALBANY COUNTY DEPARTMENT OF PUBLIC WORKS

ITEM NUMBER	DESCRIPTION (painted, unless otherwise noted)	UNIT COST	Town of Bethlehem (Est Qty)	Town of Bethlehem (Total Cost)	Town of Colonie (Est Qty)	Town of Colonie (Total Cost)
640.10	White Paint Reflectorized Pavment Markings - 15 mils Yellow Paint Reflectorized	<sup>).0385</sup> /FOOT	279,840 FEET	10,773.84	823,680 FEET	31,711.68
640.11	Pavment Markings - 15 mils 0	.0320 /FOOT	279,840 FEET	8,954.88	823,680 FEET	26,357.76
ITEM NUMBER	DESCRIPTION (painted, unless otherwise noted)	UNIT COST	Town of Guilderland (Est Qty)	Town of Guilderland (Total Cost)	Town of New Scotland (Est Qty)	Town of New Scotlan (Total Cost)
640.10	Yellow Paint Reflectorized	.0385 /FООТ	580,800 FEET	22,360.80	95,040 FEET	3,659.04
640.11	Pavment Markings - 15 mils 0.	.0320 /FOOT	612,480 FEET	19,599.36	158,400 FEET	5,068.80
ITEM NUMBER	DESCRIPTION (painted, unless otherwise noted)	UNIT COST	Village of Voorheesville (Est Qty)	Village of Voorheesville (Total Cost)		Total Cost (All Municipalities)
640.10	White Paint Reflectorized Pavment Markings - 15 mils ( Yellow Paint Reflectorized Pavment Markings -	).0385 /FOOT	2,640 FEET	101.64	6	68,607.00
640.11	•	<sub>0320</sub> /FOOT	21,120 FEET	675.84	6	60,656.64

# **BID FORM**

# **BID IDENTIFICATION:**

COMPANY:

Title: Painting Traffic Lines on Albany County Roadways Bid Number: #2019-055

COMPANY	<b>(:</b>	Atlantic Pavement Marking Inc.
ADDRESS:	;	15 Industrial Rd.
CITY, STA	TE, ZIP:	Prospect, CT 06712
TEL. NO.:		203-758-0800
FAX NO.:		203-758-0733
FEDERAL	TAX ID NO.:	06-0948555
REPRESEN	NTATIVE:	Richard Stewart
SIGNATUR	RE AND TITLE	Richard Thewart Pres.
DATE	04/30/19	

# PAINTING TRAFFIC LINES ON ALBANY COUNTY ROADWAYS

RFB #2019-055

# **ADDENDUM #1**

May 1, 2019

The following Addendum No. 1 consisting of two (2) pages (including this cover page) is hereby issued on the 1st day of May, 2019, in connection with the Request for Bids #2019-055 Painting Traffic Lines on Albany County Roadways for Albany County Department of Public Works.

# RFB#2019-055 Painting Traffic Lines on Albany County Roadways

## ADDENDUM #1

The following information is provided as a result of a question(s) posed by vendor(s):

ITEM #1: Page BF-4, Item#640.20 White Paint Pavement Stripes-20mils, the estimated quantity should be listed as 2,000 Feet.

End of Addendum #1